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GRADUATE TEST OF ENGLISH

ACADEMIC YEAR

Section 1 “Structure and Written expression” “A”

Part-I
Directions: Questions 1- 10 are incomplete sentences. Choose the letter of the word or phrase that best completes the sentence. Then, on your answer grid, find the number of the questions and fill in the space that corresponds to the letter of the answer you have chosen.

1. Today ……… the single largest organized industry in India.

A. it is the cotton textile industry 

B. the cotton textile industry 

C. the cotton textile industry is

D. there is the cotton textile industry

2. Tomatoes and cucumbers ……… from sprouting by a new technology using radiation.

A. are preventing

B. prevention is

C. prevented

D. are prevented

3. ……. is a tiny sea animal that looks like a shrimp.

A. It is the krill

B. There is the krill

C. The krill

D. That the krill

4.  If it ……. more humid in the desert of the Southwest, the hot temperature would be unbearable.

A. be

B. is

C. was

D. were

6. Little Women, ………. in 1868, is my sister’s favorite book.

A. is a novel published

B. a novel published 

C. a novel was published

D. was a novel published

7. In the play, a teenager ……… to pursue a singing career  meets resistance from his strong-willed father.

A. wanting

B. wanted

C. wants

D. who want

8. There is too much noise in this room. I can’t understand what ……….. .

A. is the professor saying

B. that the professor is saying

C. is saying the professor

D. the professor is saying

9. A fortune teller predicted ……….. inherit a lot of money before the end of the year.

A. that I would

B. that I 

C. what I will 

D. what I 

10. If my friend calls later tonight, we ………. on a picnic tomorrow.

A. went

B. will go

C. have gone

D. go  

Part-II.

Directions: The items in this part have four underlined words or phrases. You must identify the one underlined expression A, B, C or D that must be changed for the sentence to be correct. Then, fill in the space on your answer sheet that matches the letter of the answer that you have selected. 

11. Even though a member has drank too much the night before, the counselors at Alcoholics Anonymous 

             A                                  B

     will try to convince him or her to sober up and stop drinking again.

         C                                                                            D

12. If biennials were planned this year, they will be likely to bloom next year. 

                                 A                                        B                     C            D

13. Although it can be derived from oil, coal, and tar, kerosene is usually produced by refine it from 

                       A          B                                                                                    C                  D

      petroleum.

14. The Kerma civilization was some of the earliest indigenous African tribal groups.

                                 A                  B                  C                                                    D

15. If Robert Kennedy would have lived a little longer, he probably would have won the election.

                                         A                       B              C                      D

16. The Chinese were the first and large ethnic group to work on the construction of the transcontinental  

               A                                         B                             C                                        D

      Railroad system.

17. By 2675, Boston was the home port for almost 750 ships, ranging in size between 30 to 250 tons. 

      A                                      B                                            C                    D
18. Sheep have been domesticated for over 5,000 years ago.

         A                              B                   C                   D

19. Automobiles begun to be equipped with built-in radios around 1930.

                               A                        B              C                      D

20. The reflection of sunshine under snow can be so intense that it causes a condition known as 

                                        A         B                               C                    D                     

     “snow blindness”.  

21. Oyster farming has been practice in most parts of the world for many years.                      

                        A                         B            C                                  D

22. Historically there has been only two major factions in the Republican Party – the liberals and the   

              A           B         C                                                                                                              D

     conservation. 

23. Faint is not uncommon in elderly people who stand up suddenly.

         A                                         B         C                                D

24. The number of battles were fought between the fleets of Nelson and Napoleon.  

            A                                        B          C            D

25. Marie Curie won two Nobel Prizes for their discoveries of radioactivity and radioactive elements.

                             A                                        B                                  C                              D
Section 2    “Reading Comprehension”
Directions: In this section four are three passages. Each one is followed by several questions about it. You are to choose the one best answer to each question. Then, on your answer grid, find the number of the question and fill in the space that corresponds to the letter of the answer you have chosen. 

Questions 1-8

(1)Not a lot of men have influenced the development of American English to the extent that Noah Webster did. He was born in West Hartford, Connecticut, in 1758, his name has become synonymous with American dictionaries. Graduated from Yale in 1778, he was admitted to the bar in 1781 and thereafter  (4)began to practice law in Hartford. Later, when he turned to teaching, he discovered how inadequate the available schoolbooks were for the children of a new and independent nation.


 In return to the need for truly American textbook, Webster published A Grammatical Institute of the English Language, a three-volume work that consisted of a speller, a grammar, and a reader. The first volume, which was generally known as The American Spelling Book, was so popular that eventually it sold more than 80 million copies and provided him with a considerable income for the rest of his life. While teaching, Webster began work on the Compendious Dictionary of the English Language, was published in 1806.

(12)
In 1807 Noah Webster began his greatest work, An AMERICAN Dictionary of the English Language. In preparing the manuscript, he devoted ten years to the study of English and its relationship to other languages, and seven more years to the writing itself. Published in two volumes in 1828, An American Dictionary of the English Language has become the recognized authority for usage in the United States. Webster’s purpose in writing it was to demonstrate that American language was developing distinct meanings, pronunciations, and spellings from those of British English. He is responsible for advancing simplified spelling forms: develop instead of the British form develope; theater and center instead of theatre and centre; color and honor instead of colour and honour. 

(20)
In 1840 Webster brought out a second edition of his dictionary, which included 70,000 entries instead of the original 38,000. This edition has served as the basis for many revisions that have been produced under the Webster name.

1. Which of the following would be the best title for the passage?

A. Webster’s Work

B. Webster’s Dictionaries

C.  Webster’s School

D. Webster’s Life


2. The word “inadequate” in line 4 could best be replaced by

A. difficult

B. expensive

C. unsatisfactory

D. unavailable

3. Why did Webster write A Grammatical Institute of the English Language?

A. He wanted to supplement his income

B. There were no books available after the Revolutionary War.

C. He felt that British books were not appropriate for American children.

D. The children did not know how to spell.

4. From which publication did Webster earn a lifetime income?

A. Compendious Dictionary of the English Language.

B. The American Spelling Book
C. An American Dictionary of the English Language: Second edition

D. An American Dictionary of the English Language

5. In how many volumes was An American Dictionary of the English Language published?

A. One volume

B. Three volumes

C. Four volumes

D. Two volumes
6. When was An American Dictionary of the English Language published?

A.1828

B. 1817

C. 1807

D.1824

7. The word “ distinct” in line 16 is closest in meaning to

A. new

B. simple

C. different

D. exact

8. According to the passage, which one of the following spellings would Webster have approved in his dictionaries?

A. develope

B. theatre 

C. color

D. honour

9. According to the author, what was Webster’s purpose in writing An American Dictionary of the 

   English Language?
A. To respond to the need for new school-books

B. To demonstrate the distinct development of the English language in AMERICA

C. To promote spelling forms based upon British models

D. To influence the pronunciation of the English language

        10. The word “ it “ in line 16 refers to

          A. language

          B. usage

          C. authority

          D. dictionary

Questions 10-20

(1) States are the foundation of the international political system. They agree that international law shall be tool, not their master. They achieve this goal by maintaining themselves as the mainspring of the creation and use of law. International law was originally fashioned into one of the instruments for safeguarding the (4)“personally” and existence of states. There is far-reaching agreement only on a few minimum conditions that must exist before a group is entitled to be a state. There must be a territory, population, and government in control of territory and pollution.

(7) Beyond these conditions, disagreement begin either in regard to some qualifications of these  

       minimum conditions ( effective government, permanent population, defined territory) or in regard 

       to additional conditions (peace loving, full independence, ability and willingness to carry put 

       international relations effectively and legally). States can be very large or very small. A state may

       be as large as China with a population of one billion or as small as Nauru with a population of less 

       than thousand. But no matter how large or small, at least in theory, all states are sovereign, equal 

(13) and independent. 

11. What is the best title for the passage?

A. Sovereignty and the consent of states

B. About different States

C. Theory of State

D. Introduction to the State Sovereignty

12. According to the passage, what conditions does state have to be a state?

A. sovereignty and independence

B. maintaining itself and mainspring of the creation

C. population , government and territory

D. peace loving and full independence  

13. The word mainspring in line 2 is closest in meaning to 

A. motive

B. main

C. foundation

D. maintenance

14. The introductory words beyond these conditions in line 7 are closest in meaning to 

A. during

B. except these

C. only contrary

D. besides these

15. It can be interfered from the passage that states are based on the principle of

A. the foundation of the political system

B. large and small states

C. sovereign, equal and independence states

D. safeguarding the ”personally” and existence of states
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16. It says from the passage that additional conditions are

A. effective government

B. defined territory

C. international relations

D. participation to activities 

17. Where in the passage it is told about the theoretical concept on states.

A. 1-2

B. 3-5

C. 7-9

D. 10-12 

18. The opposite meaning of  the word “ independence” in line 9 is

A. government

B. sovereignty

C. dependence

D. equality

19. The expressions ability to carry out international relations in lines 9-10 mean 

A. to have capacity to participate in international relations

B. to be ready to participate in national relations

C. to regard international policies

D. to have all minimum conditions

20. What conclusion is done by the passage?

A. States must have all conditions to be recognized as state 

B. States must be safeguarded as personally

C. States should be sovereign, equal and independent

D. Small States can not be recognized as state

Section 3 “Translation”
A. Translate the passage into Mongolian (5)

Most modern writes on international law accept that the sources of international law are enumerated in Article 38 (1) of the Statute of the International Court of Justice, are:

· International conventions, establishing rules expressly recognized by the contesting states ( treaties )

· International custom, as evidence of a general practice accepted as law

· General principles of law recognized by civilized nations

· Judicial decisions and the teachings of the most highly qualified publicists of the various nations

      
 Treaty (or covenant, convention, agreement, pact) is an international agreement between two or

         more  subjects of international law. Treaties create legal rights and duties.

        
A custom is a long established tradition or usage that becomes customary law.


General principles of law are non-customary sources of international law. They are used as gap 

         fillers or occasionally, to substantiate determinations of customary international law.


 Decisions of  judges and the doctrines of scholars have played an important part in the 

         development of  international law.  


B. Translate the passage into English (5)

1. Îëîí óëñûí ø¿¿õ áîë Íýãäñýí ¯íäýñíèé Áàéãóóëëàãûí ø¿¿õèéí ãîë áàéãóóëëàãà ìºí.

2. Í¯Á –ûí á¿õ ãèø¿¿ä Îëîí óëñûí ø¿¿õèéí ä¿ðýìä ipso facto îðîëöîã÷ òàëóóä áîëíî.

3. Í¯Á-ûí ãèø¿¿í á¿ð ººðòºº õîëáîãäîõ õýðãèéí òàëààð Îëîí óëñûí ø¿¿õýýñ ãàðãàñàí øèéäâýðèéã áèåë¿¿ëýõ ¿¿ðýã õ¿ëýýíý.

4. Í¯Á-ûí ãèø¿¿ä ñàíàë çºðººòýé áàéãàà àñóóäëàà ººð ø¿¿õýä ºã÷ øèéäâýðë¿¿ëæ áîëíî.

1. …………………………………………………………………………………………………………………

2.

…………………………………………………………………………………………………………………

3.

…………………………………………………………………………………………………………………

4.

…………………………………………………………………………………………………………………
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